## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 5 - Carnoustie and District	
Valid Votes		5,401
Positions to be Filled		3
Quota		1,351

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Brian David BOYD	Independent	956
David CHEAPE	Independent	1,034
Robert GALLOWAY	Scottish Conservative and Unionist	933
Matthias GLENDAY	Scottish Liberal Democrats	242
Robbie KELLY	Scottish Green Party	174
Mark James MCDONALD	Scottish National Party (SNP)	1,939
Laura TIERNEY	Alba Party for independence	123
	Total	5,401

Candidate Mark James MCDONALD Elected with 1,939 votes, being in excess of the quota of 1,351

# Transfers Report

This report contains the transfers results.

## Stage 2 - Surplus of Mark James MCDONALD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	254	0.30324	77.02296
Transfer to David CHEAPE	245	0.30324	74.29380
Transfer to Robert GALLOWAY	36	0.30324	10.91664
Transfer to Matthias GLENDAY	99	0.30324	30.02076
Transfer to Robbie KELLY	611	0.30324	185.27964
Transfer to Laura TIERNEY	262	0.30324	79.44888
No further preference	432	0.30324	130.99968
Not transferred due to rounding			0.01764
	Total		588.00000

# Transfers Report

This report contains the transfers results.

# Stage 3 - Exclusion of Laura TIERNEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	20	1.00000	20.00000
Transfer to David CHEAPE	28	1.00000	28.00000
Transfer to Robert GALLOWAY	4	1.00000	4.00000
Transfer to Matthias GLENDAY	10	1.00000	10.00000
Transfer to Robbie KELLY	34	1.00000	34.00000
Transfer to Brian David BOYD	23	0.30324	6.97452
Transfer to David CHEAPE	40	0.30324	12.12960
Transfer to Robert GALLOWAY	4	0.30324	1.21296
Transfer to Matthias GLENDAY	13	0.30324	3.94212
Transfer to Robbie KELLY	119	0.30324	36.08556
No further preference	27	1.00000	27.00000
No further preference	63	0.30324	19.10412
Not transferred due to rounding			0.00000
	Total		202.44888

# Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Matthias GLENDAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	34	1.00000	34.00000
Transfer to David CHEAPE	60	1.00000	60.00000
Transfer to Robert GALLOWAY	46	1.00000	46.00000
Transfer to Robbie KELLY	57	1.00000	57.00000
Transfer to Brian David BOYD	9	0.30324	2.72916
Transfer to David CHEAPE	12	0.30324	3.63888
Transfer to Robert GALLOWAY	6	0.30324	1.81944
Transfer to Robbie KELLY	59	0.30324	17.89116
No further preference	55	1.00000	55.00000
No further preference	26	0.30324	7.88424
Not transferred due to rounding			0.00000
	Total		285.96288

# Transfers Report

This report contains the transfers results.

# Stage 5 - Exclusion of Robbie KELLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	49	1.00000	49.00000
Transfer to David CHEAPE	63	1.00000	63.00000
Transfer to Robert GALLOWAY	24	1.00000	24.00000
Transfer to Brian David BOYD	137	0.30324	41.54388
Transfer to David CHEAPE	168	0.30324	50.94432
Transfer to Robert GALLOWAY	26	0.30324	7.88424
No further preference	129	1.00000	129.00000
No further preference	458	0.30324	138.88392
Not transferred due to rounding			0.00000
	Total		504.25636

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Robert GALLOWAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	256	1.00000	256.00000
Transfer to David CHEAPE	352	1.00000	352.00000
Transfer to Brian David BOYD	18	0.30324	5.45832
Transfer to David CHEAPE	21	0.30324	6.36804
No further preference	399	1.00000	399.00000
No further preference	33	0.30324	10.00692
Not transferred due to rounding			0.00000
	Total		1,028.83328

# 1,028.83328